19.1.21

la. Complete these calculations.

1b. Complete these calculations.

+
13 + 13 =
13 x 2 =
%
2a. Complete the calculations below.
T 0
L L [
o0 [ ]
21 + 21 =
q’l}-, 21 x 2 =
L~

+ + + +
1M1 + 11 + 11 + 11 + 11 =
'if-\? 11 x 5 =
L
2b. Complete the calculations below.
T O
2900 o0
900 (I ]
000 L X

32 0+ 32 + 32 =

3a. True or false? 33 x 3 = 9

T

Q

33 x

33 + 33 + 33 =

3

&3 946

&9

4a. Circle the comect answer,

&é

93

o
200

P

23 x

23 + 23 + 23 =

3

'if'}? a2 x 3 =
[
Ab. Trve or false? 31 x 3 =93
T Q
o009 @
o090 @
L 1 1 ®
31 + 31 + 31 =
e 31 x 3 =
db. Circle the comect answer,
L9 a3 e b4 44
T O
o0 L L
o0 L 1
o0 (1
22 + 22 + 22 =
-;j.;; 22 x 3 =




la. Rehan and Destiny have solved the
following multiplic ations.

1b. Fatima and Dan have solved the
following multiplications.

TO TO 0 TO TO

32 2 1 % g 2 2 23

X 2 X 2 - X 2 X 2

Py 5 4 4 2 had - 4 4 1 2
Rehan Destiny Fatima Dan

T o T o T o T o

9200 00 o0 @ o0 [ o0 90 | 900
0009 00 (1) @ o0 [ 90 o0 | 900

Are they both comect?
{u:( Explain how yvou know, )

Are they both comrect?
iﬁ, Explain how you know. )

2a. Jana is thinking of a number.

| multiplied a

2b. Jakub is thinking of a number.

-
” | multiplied a
- {f_ﬂ nuember by 5. The

~

"y number by 2. The 3
- =l answer was 24, - sl answer was 55,
L T\ ! \ J
L | NN
o 2 4 & 8 10 12 14 16 18 20 22 24| 0 5 10 15 20 25 30 35 40 45 50 55 &0

What is Jana's number?
Explain how vou know.

<57 :

What is Jakuvb's number?
Explain how you know.

7 :

Ja. Create and solve a calculation using
the digit cards below.

r o o0 000

s ©0 oe0e

X e 000

9 o® 000
ﬁ?a?E o0 000

.ﬁ?[;[z 3| oee

3b. Create and solve a calculation using
the digit cards below.

I o 00 9000

s 000 0000

X 00 96060
g8 000 9000
o000




